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22. In Microsoft Excel, the bafit |y strings
e is to join two or @ :
- together.
(B} CONCATENATE
{C) VLOOKUP a
(D) SUMIF
23 Consider the following shortedt
MS-PowerPoint 2007 :

h
1. Ctrl + H — Opens the replace 41218
2. Ctrl + T — Opena the font '
3.  Ctrl + M — Inserts a new,al
4,

F5 — BStarts the
Presentation from

Which of theze i1s/are o
fA)+1, 2, 3 and 4

(B} 1and2

(C) 1,2 and3

(D) 4 only

infects the directory of a

2“# '
computer by changing the path that indicates

the location of a file.
{A) File System virus
(B) Owverwrite virus
(C} Multipartite virus

(D) *Boot Sector virus

24.
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4, Central mﬂa Unit - It is the
hardware within a computer that capy;,.
PrOgramme.

Which of these is/are correct 7

(&) -'1,"‘2, Jand 4
'Jf.ﬂ] 1and 2
(C) 4only
4
(D) 1,2and 4
28, - port 18 connect digita)
camcorders, extern drives and other

devices that can benefit from the high transfer
rates. It can also be used to connect twg
computers to transfer files.

(Al FireWire
(B) Serial
(C)" Paralle]

(D) Infrared
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(Alel, 2 Sandd
(B} 1and?2
(C) 4 only

(DY 1,2and3
tof (Bldg

218,

Determine the decimal equl
{A} {3288},
(B} (2386)y
(C) (328813
(D). (283619
Application software may b
following variety of purposes:

1. Asa buginess tool
2  To facilitate communication ¢

3 To handle creation  @n

used for, the

processes
4. To provide backup
Which of these are
(A} 1,2 3andd4 LAY 1.;::#!14
(B} land?2 (B} Imﬂ. ,|
(C) 3and4 (C) 3 3;1
(D), 1,2and 3 D 1,2 3

0. msﬁ,ﬁﬂmﬁﬁmmmEﬁﬁ;ﬁi

following commands 15

In DOS, which of the
ume level of &

used to create or modify the vol
disk 7

(A)» CHKVOL.EXE

(B) MEM.EXE

(C) LABEL.EXE
(D) VOL.EXE

afeqm w0 H R Wi gynTE WA ' T
TR

(A} CHEVOLEXE

(B) MEM.EXE

(C) LABELEXE

(D) VOLEXE
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a2, mnmmhﬂwﬁﬂmiﬂmm
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how will LIKE' Mwntt-minthatm

-]

langusge ?
(A) 2053
(B) Fa%8
{C) $%83

(D) 83%$

B denotes « ang
P4R5S6=7

If P denotes +, @ ge
S denotes —, then ‘18

3.

(4) 65
(B) 53
(C) 36

(D) 59
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(BY 53

(C1 36

(D) 5%



37.

(D} +and=, 4and8

Thmuftheﬁﬂ]awingfmrﬂﬂ
certain way and so farmaﬂ'l'ﬂ“ﬁm““
one that does not belong to that.

p'?'

(A) Dog
{(B) Lion
{C) Jackal

(D)} Tiger

Three of the following four are alike in a
certain way and so form a group. Which is the
one that does not belong to that group 1

(A} 759
(B) 123
(C) 789

a2 i B R g
ww T @ At w@ 8| P a e
Fram e wuE @ FEun TE R0 Ill
(A)
(By WM ,&
(c) frm '1’.|

() 9

57, Frcrifen wn § & @ w AT e f wm g
v e @ P WA 4 | R & @
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(A) 759

(B) 123

(C) 789

(D) « 221

(D) 221
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e frue, even if they seem in be ot varianc g ¥

¢ha given conclusions definitely follow from the g:
slatements. #iven
59 Sfaferment

The oceans aré 8 storchouse of pract
every mineral including wranium, Eutﬂ?lu:z
most other minerals, il is found in extrepmg)
low copcentration of abont 3 grams ;ﬂ{

wwmﬂm You have to decids which gf| |

1000 tonnes of water.
Conclueions
1. The oceans are a cheap Bource of uraniurm,
I1. The oceans harbour radiation bazards,
{A) Neither conclusion Eror [l follows
«B) Only conclusion | followa
{C} Only conclusion I follows
(D1 Either conclusion] er 11 follo

Statements
{a) Some men are fia

by All foxes are li

Conclusions :

. Some foxes are MEern.
[l. Some lions are men
111. All lions are foxes.

{A) Only conclusien 111 follows
(B) Conclusions [ and Il fellow .

(C) Only conclusion I [wllows

(D) Conclusions 11 and [II fellow
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L8 ; Fupulnﬁﬁﬂ“ s o0 B
publiched by Population BE5 i AR B
(A) 21,465,383 (B)- l* 2' 4‘ 3' ; j
{B) 1,2,4,3.6 e 1: E- 3:‘- ‘|
(Cr 1,2,3,4,6 ™ 2' 1' ; 3 1
(D) 2.1,4,3.6 _ 1,4, 3,
og pairt * 0 faz, i He a9 | A HACE @ R
42, Which one of the followin® - |
correctly matched 7
Country Capital fepmrett |
{A) Rwanda Kigali ( S EFT
(B} Senegal Dakar sy aTaE
{C) Zambia Masf’l'“_ ﬂ?'ﬁﬁﬁfﬂl‘l TR
(D} Liberia Monrovid _
_ (ands 15 7§ § FE-E Wy T gufea a8
43. Which of the following W€ a5,
matched correctly 7 ' -
kS Boaiieal: _ And o o whrR - wig w2
(B) Barilla - B e (B)  afeem - faEm i
() Sakhyasagar - 5 % () HEETR - O 4eY
M (D) «wgEmy - AW

D} Rudrasagar -

4. Which of the ira 15 correcily

44. freifea 9 4 w9 7w oft gafem 2 0

matched ? . :
(A) Sundsri - Himachal Pradesh LAY g?:: RO WET
iB) Teak _ Jammu and Kashmir (B i _ :ﬂicm
2y 15 HIE et
(Ch  Red cedar — Telangana f:}* :‘Wﬁ q::a
Dy Mulberry - Punjab (I} » -
45. Which one of the following gives the correct |45, BFrnfra o & =190 9 B 'ﬁ 3 ﬂ_
sequence of places going from the east Lo the 3T 9 e =5 o 3 i 2 ‘l?ﬁ-‘:m
L] = + ! T
west of India - e s uaTﬁTét %_ﬁﬂ{ “]13'_!14
(Al Guwahati, Silchar, Bhopal, b IIli[":l.'l--ﬂ AR
By stEe=m, : .
{By  Silchar, Tinsuklhia, Indore, Vadodara ( ﬁﬁﬁﬁﬁ'ﬂ’l CTALS aﬁzﬂ
¢y fagfem, s, TeEm, TR

() linsuwkhia, Pholpur, Udaipur, Rajkot

(D) Jorhat, Bhopal, Ahmedabad, Rajkot (D} WNEZ, WG, NEWErETR, AT
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e w Dam mﬂ.. mﬂﬂp'umh
S Madhya Pradesh o tne
River at Narmadanagar in the
district of Madhya Pradesh,

(B) Pengangais a tributary of the Godavar;,
tm sﬂﬁ : pinates pear ﬁmarhntak
Madhya Pradesh.
i Sagar Tham iz located
() Gﬂnﬂ]ﬂm district of the ¢State Tof
X 1 List IT le & COrTect
49. H&fﬂhlﬂiﬁew v the lists :
e e ¢ I
Minerals) {Mines}
- SRS 1. Koraput
ﬁ i i 2. Balaghat
o1 Iron-ore 3. Aria
V. Limestone 4. Donimala
e W
gyt 2 4 3
grg 1 4 8
@’y = 3 4
e 4 1 3

3 ﬁrﬂﬂ mﬁuﬁ IS *
fere 0 die T wm T % w
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{A) Mizoram
. |E||ljm
(C) ouws
|

{B) Gujarat
(C) Uttarakhand

: ’ - a
Mpﬂrt:r_nsuﬁnl'lndll - " “ﬂ'ﬂ_ﬁmm“; F4EN
Scheduled Castes is wfaE & wE mlw '
(B) 1666 B 1666
(C) 2014 (C) 2014
(D) 1843 (D) * 1843

: L'r.!H- vrA 1 EETeE 2011 & FEm, wm R
aspcr{:ansu”fmmmll.pmdﬂ“ { i & ek ros & o, ‘
India grew by 17-7% as agunsl __—— - o Wi ¥ v e = & e
the previous decade. 17-7% 6 91Z n8 |
{(4) 235% LA} . 2355
(B) 20-5% Bl 205%
(C) 21-5% C) 21-5%

) 225

(D) 22-5'%
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7. Pradban Mantri Awas Yojana (PMAY) ha,
2 ched by the Government of [ndia

with the purpose to provide bousing for all by | 57-

2022. What 1s the interest subsidy
provided by the Government on loans avail
from the Bank 7

(A) 3-5%

(B) 65%

n formed at the

pational level to ensure implementation of
Atal Mission for Rejuvenation and Urban

Transformation (AMRUT)! started by the
Goverment of India. Who is the Chairman of

this apex committee ?

(A) Hem Kumar Pandey
(B) Rajiv Gauba
(C) Madhusudan Prasad

(D) G. Gurucharan

O THE W sEm g
gard.) ¥ TION o R 2022 wE
gt F03 ¥ o | &% @ wa R
ol @ AEE F0 wEH fEm wm awen
ﬂaﬂhmt?
M}-t 3‘5%
(B) 66%
{C) 55%
(D) 45%

oI WA g TEE S W S i weh
gfigdd & fom wza favm (omE) & s
F fom art=m wfafa =1 w2 fem v R | ot
s quia s & 2

(A) W FOW qUEY -

(B) Treta Man
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Yojana (HRIDAY) nhemtﬂ
2015, with a focus on holishic
heritage cities. Which of the
not a part of 1t 7

(A} Velankanni

(B) Warangal
(C) Badami

(D} Upain
Manda, the northerp-most site Ef Indus
civilisation in Jammu and Kashmir is located
on the bank of TIver.

{A) Chenab

(B) Jhelum

(C) Sutle

(D) Zanskar
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HAES &3 Which Rig Vadie God L 15
I'utern.'t;-duar-,, bt g W RLE Songidenad
Vrove ne
e (A} Suryg * B2ds and thy People 7 ¥
(8)  Indra
('} VYurung
(D) Agmj

BDETOr Started tho Benera)

{A) Kunalg
(B Chandry
Bupta Ma
:fadl E i Bi.n-u:]u.::ara ity
Ty D) Ashokg
B5. Asﬂ'e?'i']'uﬂ L TR
The Shudras
: o the Gupta pericd
I!:if:h'l:u'rtt:&d to listen to the Ramayana lWI:EIE
abharata and the Puranas. :
Reason o
£ ECOn0mj 1
g Gum.lc gtatus of the Shudras 1 prowved

Pta period and they were i
e mai
Tépresented as agriculturists. .

i’ Iﬂ .the context of the above twg statements,
which of the following is correct 7

(A} A is false but R is true

(B} Both A snd R are true and R iz t
correct explanation of A

(C} Both A and R are true and R is n

. Correct explanation of A
(D) A is true but R is false ¢
66. Which of the following books i itten by
Amogavarsha-T ?
(A) Adipurana

(B) Kavirajamarga
(C) Ratnamalika
(D) Passancotharamealika

67. The greatest failure of the reign of Jahangir
was

(A) execution of Guru Arjan Dev

(B) formation and ascendancy of the
Nur Jahan junta

(C) failure to secure an inch of land in the
Deccan

(D) the loss of Kandahar to Persia

67.
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et
b ArE®
(C) be _'-h_E fn=Gc . the royal
ACCEVILY 5]]':'
e
(D) be the master of
court . ﬂ,pitﬂl from
o, &
89. Which Bahmani ruler ®
Gulbarga to Bidar 7
{A) Yusuf Shah
(B} Mahmud Shab
(C] Mohammed Shab

{D} Ahmed Shah

70. Examine the given map:
4 is the seat of power of

(A)
(B) Scindias
(C)
(D)

Gaekwads

Holkars

Bhonsles

LI

0.

L

69,
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(D) WrEa



ARO - IG
an League wras fel up

71

7.

75

74.

76.

(17,

by Sisir K

i Ui

: : which wag l:'m"

= Indian Association ter
af

Ti,

Fndi
(zhosh 17 ghe year
succt?fdﬂd by th
Caleutta.

(A 1878
(B} 1875
() 1876

o 1877
uf_ th_e f‘ul{ﬂwmg Muszlim Move
Lelief in universal religion of hu E:"'Enta

Anity

Which
had a
and of
(A} Farai
(B} Wwahah Movement

{c) Ahmadiya Movement
(p) Titu nir Movement

posed jihad ?
zi Movement

WI?I}EE Eﬂ?ﬂmﬂ.ﬂﬂﬂ was the
Telegraph line started between Calcutts ﬁm;
an

[Diamond Harbour ?
(o) Lord William Bentinck

(B) Lord Cornwallis

(C) Lord Dalhousie
(p) Lord Wellesley

Durnog

ki

from India an
e“alzo

-_-_._.—-_._.‘_
with the Ghadar Party till 19
aper named Pe

gtarted a newsp
(A) Gopal Ganesh Agar

(B) Aruna Asaf Ali
(¢) Sardar Ajit Singh
(D) Moulvi Ahmadullah Shah

as the first Indian

Who among the following w
dul']]'l.g {he

to become & minister In 1921
British rule ?

(A) J.N. Banerjee

(B) Surendranath Banerjee

74.

(C) Upendranath Banerjee
(D) Manindranath Banerjee

75.
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(D) WA T
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Legislatie [Taundd

(A At.uumm:re-‘w""i
(B) R Radhakeisho®

(1 G Gokbale

ot n

I,.g-_iBJ“‘fh,a fmperial

T Daudabhs Nﬂ{'r:;ﬁ P dﬁﬁrr:}rfr%zf
77, Minimam Suppatt p S0 ppot T
Price revised ¥
(A} 31° March, 2018
(B) 1% June, 2016
(C) 1™ May, 2016
@ 1* April, 2016 i ﬂﬂlﬂpﬂmmt of
{ TR L
& ﬁﬁaiﬂﬁfﬁ:ﬁﬂﬂ“? (CBT)
(A) Capacity Buildiog and
Programmes wﬁmtinna]
(Bl Social Mobilizatic? %
Development {SMILY o (BUSV)
(C) Support to Urbﬂl‘snwﬁen Cre
(D) Central Support far Warehoug
(CSWC) tug
79. What is India’s rank QR
Business Index in the yeagél
fA) 130
{B) 133
(C) 132
(D) 131

80. What is the time frame within which 8

Dealer onee the import has taken place ?
{A) 12 months
(B) 3 months
(C) 6 months
(D) 9 months

Bill of
Entry must be submitted to the Authorised

7.

TA.

8.

Ay

e et wrafae Iy
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(A} . ST TN AR s
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A iR e TR T il ;
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(A) 130 °
(B} 133
(C) 132
(D} 131
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(A)» 12778

(B) 39T
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as a mensore of gifting a1 e
- H

vBhoodad Yojana”,

jand by the rich landlords t0 the landleas
jabourere, Was started by

(A Medha Patkar

Acharya Vinoba Bhave

(Bl

(1 Acharya pfarendra Dev

D1 Raj Narain

National Agrienlture Policy, 2010 emphasizes
Y g ameasure of land reforms.

(A1 consolidation of holdings

(B) tenancy reforms
copperative farnung

(Gl

() distribution of gurplus land

The Board of Industrial and = Financial
Reconstruction (BIFR) came into existence in
{A) 19BB

(B) 1285

(C) 1986

(D) 1987

Consider the following Reports : ¢
1.

2,

3.

4.

5 Global Economie Prospects

Which of the above Reports are published by
the International Monetary Fund (IMF) 7

(A) 1,2, 3and4

(B) 1and2
(C) 1,3 4andb

(D) 2,4and5

o ford # 8 FRA FAiE W w
(mé TH.UF. ) BT et # I E 2

(A) 1,2,37 4

B 1T 2

() 1,3,4T@ 6

(D) 2,4W 5
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gl Consider the Tollowimg staternents :

100 ce isohyets FEP

1.
cuiltivaling regians af Todia,

2
whemt CTOE

Which of the statements given
gorrect 7

{A} Neither 1 nor 2

(B} 1only
() 2 only
{D) Eoh 1and 2

86. Which of the following is found in
Deciduous forests in Uttar Pradesh ?
(A} Kokke
(B} Jhingal
(C) Palas
(D) Mahua

87. Which of the following sages who
the Vedic period, do nof have
Uttar Pradesh 7

{A) Parshwanath
{B) Yajnavalkya
{C) Bharadwaaj

(D) Atri

88, Maya, the mother of Gautama Buddha,

belonged to the ruling family of
(A) Deoria
(B} Kapilvastu
(C) Lumbini
(D) Sarnath

arate TiCe and wheat

Feavy rainfill during winter helps the

above isfare

Tropicel Dy

BE. ﬁﬂ'ﬁfﬁﬂ

86. et d o T

3 i T T A wEnE 7@ 4
(A) TTEEATH

(B)* AT

(C)  WTEE

(o) A

HEiuA i 7
(A) @t
(B)* Hiverae
(c) gie

(D) wmAT"

Jg.._'[-l',{]l =
p- :

aﬁimﬁﬁmﬂﬁnﬁﬁﬁa{ﬁﬁ{ﬁ}ﬁ

e gg # o, @, fee s ofem @
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which ef the follpwing dance forms is pgy
foll dance &
(A Bhartrahar

i LIikar Prodesh 7

(Bl Pantht
(i) Char kula
(D} Fa danda
2. Which of the following minerals is found i
farchhand tehsil of Allahabad distriet ?

(A) Uranpium
(B) (3lass-sand
{C} Marble
(D) Bauxite
Which of the following pairs is nof correctly

al.
matched ¥

(A) Chhatrapati Shahuji
Maharaj University

(B} Babasaheb Bhimrao
Ambediar University

— Faizahad

— Lucknow

(C) Ulttar Pradesh
University of
Medical Science

(D) Dr.B. R. Ambedkar 2
University

g2, As per the report pu li Agro-Economic
Research Centre bad in 2015, the
acres land limit was fixed in

irrigated land with twe cTops while
acres land ceiling limit was fized in irrigated

land with one crop respectively.
(A) 27,27
(B) 18,27

g9, 2015 % FR-oMEF FIHIW ¥, TR TN

ﬁmw%m*ﬁm:ﬁﬁﬁm
*mﬁ'ﬁ“iﬁﬁm“ﬂ:ﬁ_g

s vt 7 N @ |

(A) 27,27
(B) 18,217
1C) 27,18
(D) 18,18

(C) 27,18
(D) 18,18



C §2Z )
0y, iz a web bazed gnine familiny | 9.
for entreprepeurs desirous of selling up an
prnterprize an Uttar Prodash
(A} Wivesh Lltdwr Pradesh
({Bp Mivesh Mitra
(b Mivesh Bandhu
{1 Invest Uttar Pradesh
84. Which of the following is maf n government By
engineering college of Or. A P.J. Abdul Kalam ;
Technica! U'niversity 7
(A) Motilal Nehru National [Insutute of
Technology, Allahabad
(B} Madan Mohan Malaviya Engineering
College, Gorakhpur
iC) Bundelkhand Institute of Engineeri
Technology, Jhansi
(D) Harcourt Butler Technological Instit
Kanpur *
85, Situated in the cen Pradesh,
18 believed e place where | ge
Gautam Bu with Brahma and
Devraj Indra descened after giving sermons
to his mother.
(A} Sarnath
(B) Sankasia
(C) Sravasti
(D) Kaushambi

ARCH - L8 .h“ﬂ_
mnﬁﬂmmﬁﬂﬁﬁﬁwazl b i
& ﬁﬁmmmﬂﬁ'ﬂ
3
(A T T WA
|y e m
oy Fem =7y a7

(D* T I EW

{B)

(D) ETHTE e AATh BETH, A

S R B e & g o fem
ﬁm#ﬁmﬁtmmng
mmﬁﬁmmga.

(A) HWATY
(B) wafEm
EiEr=il

(D) Fremead

(C}
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il
" ink
25, what will be Lhe averall
a -
e - OB in
(A De i
(B} Inc

(C) Decreas
:D'-: L[t-_".'TE‘r-I-EEE e 12-5%

crnpsed by 12-6%

reases by B0
es by 25%

r.1_-|' 5

4 pplar sum of money ie i

: J.TSIJ:'F z:n& rats af 109% per m‘-rl'l."EBtEd_ I:
e _ or
1] I‘ﬂﬁtﬂ: Em'l:l'-'[u.ﬂl -I.-'-um af mI:InE!I,“:u-E“ ﬂimﬂl:e
Et: g period at the sa 13 INvesteq
S ;':':'F'D“ﬂd'lﬂ'! annually *,I,THE rate of
; r:;:;f percentage in in at is the

re : Vet

st opwer that atEntmg at

B1TT)
\ v Fili:

g A pa

for
inteTe

grofit
gompout
jnterest -
rA) 10%
(B 10-33%
] () 11%
| @) 11:22%
i Twatapsﬂaﬂd B can fill
. and 8 h_ﬂ'll"s reapectively. fl?n:znk Ty
| opened simultaneously, but i e
_ .;tedtimemf}}[ e
ill the tank as t.h..a._r:hdn
8

L “"’;a
-.-'-'I:_J-\_
I o :_'?- -L‘?“
! E ¥ i [
n & L
F

the expe
leakage in the tank. If the leakage ¢
an e

] a full tank in 12 ho
. urs, find the ti
tank with both the taps and thz lt::;:a
ge

r-' (A) 12/5 hours gt
.- (B) 24/3 hours o/ R b
(C)r 24/5 hours ;

(D) 12/7 hours

|
~ pg, A bag contai
tains T re ls , 6 white balls and

b wn t at
lack balﬂs. If 3 balls are dra out a
random, without I‘Eplaﬂ&]]lenl:, what 15 the

probability of all the three balls being wh
white ?

{Ale L{E

A i
(B) 5/507 ﬁﬂi
() 5/204 e

(D) 6/203

. - w,,—zﬂ?lﬁﬂﬁﬁﬂm-rﬁ i

g ﬂmﬁm:ﬂ’l‘“’ 1 2eE B OETE ?.'Fr i

@r:ﬁﬁﬁauﬁﬂﬁqﬂmﬁ"” e
ﬁﬂz-ﬂm%

um FT eI 0% W TraRe: <

S st 1t oo 3 e

§ o ﬁiﬁﬂﬁ.mﬁ’mﬁ.' =

o 7 fom 1 % | e

a,ﬂrgﬁ’l‘l ﬂﬁEMmﬁ%ﬁm ol
qﬁﬁﬁiﬂmaﬂﬁﬁmfpﬁﬁ“ﬁxﬁ

fer &
() 10 S
@y 1033
i
(D} 2

=0 i

L S 2t 3% H o0 8
mﬁiﬂiﬁﬁﬁﬁm;mﬂ
Wtﬂﬁiﬁﬁ 12 98§ TEv Sl
%_?ﬂﬁmﬁﬁmmm—ﬁw
aﬁqﬁaﬂ!mﬁmq‘%ﬂﬁl "
) 12/6

(B} g4/3 2

) 2459

oy 12/7TH
ﬁﬁéﬁ?mﬁﬁi,ﬂmﬁ%wwﬁ%ﬁi

5 | afy 3 T AGESD
® # @
W%Wm%,ﬁmﬁﬁm

iz 413 < it ) & 2
(A) 12

(B) 5/507

(C) 5/204

(D) 6/203
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100, A train, f.-rﬂ‘m-l.tl'ﬂ'ﬁrpﬂg .-HIJL’“" s “:“ i ':L =2 =T H Hulla ) | T 'E'I WiE = 3 Ok L0 e
SF 170 Jamph emase® Lo WhE £ i el Wt oA B\ gt TerTiE N
n : (o p clenr 2ach ; il R i alodek
from tha oppeeiss pE pres lonE and T W e & T R wm, Ik pad A
timg reguired for huiﬁn yAEE erd] TamiE o FnETE 360 HET il s 154 Tl <1
:"r[;:-:l:i the ather Lﬂ’;”“ ;,.nl‘-]h wia gz 1 =S A W R il e
Fsikind .g At m sp (A 10 drewE o pat _I"- VB
e T £ : ] - = Ve a
(Bi T eeconds i TFE‘; Ef-{.;‘ "
(C) 8 seconds i) Sl s
D e (D) 9 HFETS
L
v i g pi®® L§ Eﬂﬂﬁ::h- 01. gﬁm 2 frard @1 = eop ¥R feama & A0 'fﬂ
i+ ma;ellu 2 w:ﬂ'ﬂ 2 wﬁ:mﬂ: ki oA R | T #E. § A 20% W T an
mda;;”ff;ﬂr;n u‘ﬂ;mm S B wfa B RO "
Find the p:n;t-"iowﬂﬂ the 5 | Y ﬁﬁxm@ | (4
(A GETHE loss lH: i
(B} 4-66% profit (s i 1
(21 4% loas (D e
(I 5-67% prafil B g
102 S R 107,
isB:8 X g W AT B R
102. The ratis of o victor and AT
o m“’m e
sk menﬂmﬂmdﬁwwﬂmuﬂa:m Hrgl (=)
10 years X u i
i{B} 14 years e ot oS
¥ (C) gad
(C) 8 years 'S :
(D) 129
(D) 12 years § - !
_ 103. 373 gaan
108, Today is Wednesday. After | be Frm 2 21 776 fl &% wm LoE R
(A) Monday £y - 445 oo
(A) HWER o P8
fE] Thmd“ L PP "‘5-
(C) Wednesday Y MV
(D) Tuesday ) B i E
i o T
(D) TTEER % -
104. hhﬂwmnnywaﬁmmawudﬂmﬂﬂbu 104 i _ e
arranged ? . ORANGE 7= ® & wan 8 =afem e
(A) 180 i M0 LS A
(B) 720 (A) 180 =
(C) 540 «(B) 720
(D) 380
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L &m F o 8 fmoam
-

II
I|I !Hf}— 16 i 55 4
. Spema and Arti ean do o 1:—'11:1: N8 days 1 5
105 75 daye Ir_esrjm;w:l?-? LT S m;;,:;d 105.° e F 3‘“’21 omfl B | AR A T wm
pnderiake & WO o 100, what iy p,, 10 BA i m afn s <
.:I:ifﬁfr::ucfr hapwienns 15 R o Eue;n: + g§,100 i e .gq.-.:rb"ﬂ AT e #m -:ut
i e il L e
Ay ¥ To0 . 700 - A
|y 1,000 Lt
() T 800
{12} & B0
ul Board of Direct T

i E;:ﬂﬁ:i!ml disclosures of bkes \CBDIT) e
gnder the [ncome Disclosure Scheme, ET:I'IE_
(A} T 56,040
(B} T 65,250
) 68540
(D} 7 72,8560

Centre has proposed how man

107- 3::: gtructure for the Goods & Semi; ',;‘:: of
October 18, 2018 ? on
(A) Four (A)

(B) Two
() Six -
(D) Three N - .

108. In the biggest buyout by an Indi L8, 70 # WA i A T wE w41 wid 1,
Company B Europe, mega grarftad T8 (INTAS) 3 ¥
INTAS has acquired ——— 2016 ¥ e R
(A) Cerestra ) E
(B) Actavis (Generics J = o ()

(€} Alexendria Ré& E : Lt
(D) IBIBO (© I
(D)* IBIBO

109. Who will be the chief guest of the Republic|ygg, 2017 % TVIEA fram woTE B gEn i wR
Day (Celebration, 2017 7 EEg
(A) The President of Iran A > 2
(B) The King of Bahrain B) & % T
(C} The Prince of Abu Dhabi

() 37 uTdl % THFAN
(D) ATEA & T

(D) The King of Jordan



V28 b

g arch, King
P ATl i
110. The world's longest P00 o toher 13,
Bhumibol Adulyadej whe T
3016, was the king of which P

(A} Bhutan
(B Jordan
rch

Dy Thooland

Bahrain

5 for “The
111. Who won the Mag Hooker Prize 2018
SHell-out™ 7

(A}  Paul Beatty
(B)  Ottessa Mosfegh
{C) Duavid Szalay
(I Daborah Levy
112. Antonio Guterres has been appointed as the
9" Secretary-General of the United Nations

on Chetober 13, 2016, He is the former Prime
Minister of which country 7

(Al Bweden
(B} Spain
(C)  Ttaly
(D) Partugal
113. The Central Board of Secondary Edu
(CBSE) has decided to do away{with

provision of revaluation of ans =
from 2017.

(A) Class 10 and 12
(B} lass 10

(C) Clase 11
(D} Clags 12

I14. Which is Indian's latest communication
satellite launched successfully from Kourou in
French Guiana on October 6, 2016 7

(A) GSAT-18A
(B) GSAT-17B
(C) GSAT-17D

(D} GSAT-18

113.

1141.

ARLIE

111.

112.

Al "
i
L
|

ARG — 18

g TR O S T,
foran 18 SET, 2018

mlmﬁ#mﬁ?

fava & Tl & A
1T

F1 fnm A
Ay HZH
()= ATEA
(cy ®WEiA
(D). 4TEETS

..aﬂﬂ,mafﬂiﬁﬂhﬂﬂ

O

(A"
=+
Y e % g3 e
,’ﬂ:mﬁﬂﬁﬁﬁﬁmw B
et & 7

qreRTL 2016 oo 1

(B
(Cl
(I

(D) FamE

¥t meafes fen 9% (CBSE) A
¥ form wwr gfEell % e 6 TEEH
F 20178 ® F0 = Fomm 2

(A} e 10 31 12
(B} & 10
(C) en 11
(D) <FETT 12

WA H A ayfrean g Tare @ B
9 T fedd #NE ® o6 wEeE, 2016 &

FHTAE YA fHm (Sre) i o
(A)» GSAT-18A

(B) GSAT-17B

(C) GSAT-17D

(D) GSAT-18
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, "J: jch counkry 1‘?1' the tirst time has g,y =R
i gmiliafiee defeat, 5—0. i Wierag : .
.I 1 l|1l'1:"?r: Ol series in D-.:m.l:::j- EED] Ev”'ﬂlmtl 115, fpg 200 F ﬂ“‘@;zﬁ F 0 R SATHEIEE B
. whoi + W, iy frqgm 0P8 T o 78 G TmaT
| (A E.ngjsm-d by Bangladesh e a9 . < )
II B Auseralia by South Africa LA ATty i 5 e W
| (c Mew Zealand by India (B} e '{iﬁ_ﬁ-ﬁé 1
IF o west [ndies by Pakistan i;:-] L ﬂ'ﬁ Iz Eﬁ_’[ y *
.a= the Chairm ot L _ £ gE
g EEIH:::::E of the L"ni:ti?uﬂ:prﬂﬂ:;:ﬂim“la 116, wyuA 1 Hﬁﬂﬁ e S wim
_ (Al Alladi Krishnaswamy Ayyar (A ﬁ-[ﬁ;nw T
| By KM Munshi g - B
, ¢y B pPattabhi Sitaramayya i . 'ﬁﬂ Gt
' (I H.C, Mukherjee o '@Fﬂ-fﬁ- E@iﬁ
_ . 117, wreda AR el
(. which Article of the Indian Constitution deg -
with the prﬂtectiﬂn of monuments, placeg : t . }
nbjer:t-‘l of l:lﬂtiﬂnﬂ] ilﬂpﬂ]‘tﬂ.ﬂc‘.e 9 and )
(Al Article 42 QB -
- (Bl
{B) Article 47 ] 4B
(E) Article 48 315'*7@1 49
‘D) Article 49
o A AR FEE T & e
118 Which of the following statements rrget Hra-y # 7l %7
regﬂl‘di.ﬂgthﬂpriﬂ:l&ﬂin:iﬂtaruf 1. mﬁmwﬁﬁ*mmm
i In the Parliamentary N India =1 gfEa e ®
m;:mm;tmner' ead of the g,ﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁ%‘-mmﬁgﬁg%
? ;‘; - m‘ _ forp v ferdre i L B 2
: ¢ Consptu not contain any i
specific procedure the selection and 3. ﬁﬁ‘ﬁﬁﬂﬁmmiﬁmﬁm
appointment of the Prime Minister. Hedm H | TR AR
3 Hacanremnvennynﬁnisterwhﬂreﬁmea 4. ﬂﬁﬁﬁmtﬁqﬁﬁ?ﬁﬁmﬁﬂn
o cooperate with him. 0 ) T HEEA
4, Hecan recommend dissolution of the Lok i
Sabha to the President at any time. (A) 1,2,3304
(A) 1,2 3and4 (B) 13N 4
(B) land#4
(©) 133
(C) land3
(D) 1,33M 4

(D) 1,3and4



[
d of ladi
119, Money fram the Contingency B 5

can be withdrawn andy ailer
g Compiroller

(A} the prior approval of th
and Auditer General
the Appropriation Act hias been passel
by the Parljzment
the approval of the President
the approva) of the Prime Minister

(R

ey
D)

120. Match the follgwing Articles related to the
Supreme Court of Indin |
Lzt [

&, Article 124 T

List IT
Appointment of ad hoe
Judges
Appointment of acting
Chief Justice
Law declared by

Supreme Court o be
binding on all courts

Review of Judgement
or order by the
Supreme Court

b, Artiele 127 o

e Article 157 3.

d. Article 141 4.

I121. In India, the State e Assembly

participates in the elecfon
1. The President
2. The Vice-Presiden
4. The Prime Minister
4. The Rajya Sabha Members
Which of these are not correct ?
(A) 1,2and4
(B) 1and4
(C) 2and3

120,

(D) 1,2and3

121.

ARO - 15 AR
“ﬁﬁmﬁimqﬂﬁiﬁﬁnﬁﬂﬁﬂm L
qwmqﬁ'ﬂ:l?ﬁmﬁ ; i ﬁgﬁmi
LA ﬁﬁﬁqﬁ'mlélg 1{& |

T3 rfifrge wfE W
(py - o s g fabrE
foem v A
i H‘Eﬁ%w%;mﬂﬁ
fya) Wﬁ“ﬁ#:"ﬂi
m%gﬁﬂﬂﬁm“ :
=1 fiyem ST ;
EE#H
E‘#‘; ; e -wq 8 (wed)
a- ‘ %
|
|
2 b ¢ d |
(A) 1 3 2 4
(B} 2 1 4 3
{C) 1 2 3 4 ,
(D) 2 4 1 3 '|
.‘
;ﬂ&ﬁ,mﬁwmﬁmﬁawﬁﬁméﬁ |
T
1. Ty
2. 39l
3. vUR T
4. TS O & "o

A FHA v T E o

(A) 1,23 4
(B) - 13 4
(C) 233
(D) 1,23 3
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124, The need for constitutional sanction to V;
Panchayats was first felt by the

(A) L.M. Singhvi Committee
(B} Balwant Rai Mehta C
(C) Ashok Mehta Co

(D) G.V.K. Rao Co

*

tee

125. Which constitutional amendment of India
included Sindhi as the 15™ language in the
Eighth Schedule ?

(A) Twenty-Third
(B) Twentieth
(C) Twenty-First

o
; . -
Indig, the Union Leg i ) r
]ﬁ. ]L:!,L-EEIF-EE on & subject it the EﬁEE;E L‘-‘l.nnut ; 'Fﬂﬂﬁﬁ TT=4 -'FEH w Faami g ESE o)
Rajya Sabh Ulegg | 1R a,:ﬁw
the Rajya Sabha passe : ; wwdl
e nalj‘;:]r:;cﬂuuﬂn A aa i el e HFeR TifA w oo
do 50 POMtanie o LA, Fﬁ & e F T
: L4 iy A o o
i Pmldﬂnjt E.!MIE PO da g By T ﬁﬁﬁﬂmﬂﬂ% T A %I‘J\:%EF%
() the Prime Minister culls upor ¢ o do g, gy A T e =t 5 78 W
1} the Speaker certifies that it ig e oy A T Lalh
i 2
133, Assertion (A) : s
[ndian Forest Service is an All-Tndia 5 125, srfowaa (AL ¢
erv afiga widia &
Reason (R) : o L Y
The States Reorganisation i
1 ; T (R}
pocommendad e cTeation of Indian Forgy| T o s AT T d g
= =
In the context of lthelabm-e two statemag, Fo ] #£1¢
which of the following is correct ? : i % Frifers & & R
(A} Ais false but R is true '.[.'-rtﬁli 3 Tﬂ ¢
(B) Both A and R are true audRi.‘S[h m}. qﬁﬂ'ﬁ?ﬂ!
correct explanation of A " } R o1 B R W R, A f1 wh
(C) Euthﬂaﬂdﬁa:retma and R is not the ’ 3
correct explanation of A A s R A FA R TR, A owh
(D) A is true but R is false s T &

D) A®F R A RIEER

]Hmmﬁﬁﬁﬂﬁﬁmﬁﬁﬂm
Faam T g AE HE
(A) .. it wffa
(B) ~ weed T e winfa
(Cy FreiTes T Hiuf
) A%, e aEE

WA F ®H8 "avhE e 8 fed W

sl s 158 WM F ww § wiw
fawm 2

(A) TE|d
(B) #md
(C) vahEd

125.

(D) Twenty-Second

(D) WT$HE
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o

LB, Which one of the r"”':'w;;gn ?
nationalised in the ye8F

(A} Canara Bgnk, Den? "
Brnk of Commerst

(B Bﬂl’!k af Indi k
Punjah National B2 dipik
{C)  Corporation Baok AL

Mew Bank of India

siiaya Bank
(D) United Commervial Bank + ¥

and Punjab & Sindh Bank

127. Under which Act, has the
Indis declared that existing
T 1000 cease to be a legal
midnight of 8 November, 2016 7

(A) Banking Regulation Act Section 26 (A
(B} REI Act Section 26 {A)
{C)  REI Act Section 52({A)

(D} Banking Regulation Act Section 52(B)

128. Consider the following statements regarding,
Non-Banking Financial Companies (NBFC

1. A Non-Bapking Financial Cgmpan)
(NBFC) is a company registered
the Companies Act, 1956. '

2. They can lend as well as in 5"1‘“-"3

market.

4. NBFCz do not art of the
payment and seffie system and
cannot issue ch awn on itself.

4.  They can take es of deposits from
the consumers, ie. time deposit and
demand deposit,

Which of the above statements are correct ?
(A} 3andd

(B) 1and4
(C} 1,2and3
(D) 2 3and4

(krient

o Uniod gank of Jadia and

fovernment of
7 500 and

tender from

o three BaAKS were | 196, frifen 4 #

127,

ARG — 35

&5 w4 1980 § 125
a7

Treffpga fFn T T
[A). ST HE, VN

w-ﬂmﬁiﬁﬁmﬁ

= et e

(B W aﬂ"l?‘&;;:l

e, il #o ol A o
(C) AT =

sfem ] T
(D) TR it 4, farmal = A TR

7 fig &6

fapm wa & andi=, Wi LT wE
Aur T 1,000 F TH 7 8

T gt 18 e R

! g 26 (A)
{A)+ ST ﬁﬁ’l'x e
)
(8) I I 2614

%6 um 52(A)

@ Hﬁlﬁﬂn?ﬁlﬁmﬁirﬂ-—f
fadta @ (NBFO) % ®E W

gt o faem e

o= frdfen fadg FOE0 TR B N OEE
afufim, 1956 F aimta Tofa w08 T
21

2. W F g A e aen # feam W=
o 8 |

3. NBFCs W i foem vomedt & fem
T # oft @z W ¥w fFe o S o)
TE F HH |

4. F IpaRS | B wER F T U w
Hehd & W8 §WE FH W g W

I Fyl o W BAE HEE 0

(A) 33N 4

(B)= 131 4

€ 1,233

(D) 2, 33N 4



132, Thanjavur is famous for
1. Rajarajeshwara Temple

2. Brihadeswara Temple
3. Lingaraja Temple
(A) land3
(B) 1enly
(C) 2only
(D) 1and 2

g0 1% | o
r ; he flowing sio BEY !  oEE o FrentEn
path Eﬁfﬁd"smicf Taﬁﬁsﬁ? > “ERArdiy, [ETEE CEY aﬁgﬁmmmﬂ
. The taxes which will be subsug,, . Yo g B F0 B Fa IeIrE I
" ST include central oxcire qugy, . 10 et ™ afes I - 1L
tax, additional eustoms dilé-::"-h':iq_lE L. o ﬁ
gureharges. fng A E
g GST will be applicable on the g gﬁij;’-?‘“ . 1 wiE ¥ fEEh w
purchase of securities. B ang a G s .il:.l-,ﬂ i
Goods and Service Tax Net FIT 7 WL EEE (GETN) TR
. s not-for-profit, um-gni:r;ﬁcﬂ“s'rm g Eq il grErl HE R W R AW
that would provide IT i“ﬁaﬁhuﬂumﬁm_ ﬁTE.Tﬂﬁu =1 1T : ; i
gervices to the Central any E“’lﬂu =4 T Bl
Government. tate — Fom | i e
reform of indirect taxation in Ingdj, the 4 H'F}"a@ HEH
,mpmngwh ?ﬂf the| Sbeve: AlStementy i5/are ; st - TET Ry
o @) L2
@ 2only ) ¢
Which of the following is not a methyq .¢|18 Fad Ama 1 W W
Lstimating national income of India 7 of £ fafa 7287 2 2
(A) Export-import method : et oty
(B} Income method L ffa
() Expenditure method ) fafa
(D} Value Added method e AR T (=g uEe) fafa
131, Bohaggiyo Bishu is the spring festijal of 19, s fag __®IES qEATEE R |
() Mres () T
| (B) Meghalaya (B) WIEA
(C) Manipur () T
(K} Aagaee (D) * W

132, e 78 &g WE R
1. TrEETE Wi
9. gEaTaL HiE
3. femran wfe
(A) + 1301 3
(B) %ad 1
(C) ¥a= 2
(D) 132



132

L

Cha
193, Surendra Nath Gaaguly and Barnda Finrg

Llei? were famous
1A Seulptures
(3} Painters
(C}  Indian Classical dapcers
(0} Hindustani Musicians

gtatue af

[34. The colossal monolithic
Gomateshwars is situnated at
(A)  Hyderabad, Telangana
453 Thanjavur, Tamil Nadu
i) Shrﬂv&u&hgjggqlgi Karnataka
(D) Bijapur, Karnataka
135. Bagh Print iz a kind of block printing done on
textiles, that originated from which of the
following States ?

(A} Gujarat

iB) Madhya Pradesh
()  Utiar Pradesh
(D)) Maharashtra

e
al.

136. A person passes much urine and drin
water, but his blood glucose level is
This condition may be due to

{A) Hyposecretion of cortico s ffom

adrenal gland

from Lestes
from thyroid

(B) Hypersecretion of an

(C) Hyposecretion of

gland
(D)) Hyposecretion vasopressin  from
posterior pituitary gland

137. Angina Pectoris is a disorder caused due to
malfunction of which of the following body

parts of humans ?
(A) Kidney
(B) Liver
(C) Lungs
(D) Heart

134,

13%5.

137, UAIE 9T 0 faew @ S a9 ® win %

T

(B) Fum B TG & BEIEE
(C) wretias vfa & arnifess = BEd-EE

(D) 9o freged ofs & SEnfE = agn-aE

et frm sm it sl & oo e 29
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i | 158 ii:rrrﬂﬂﬁfnh!i“”::n r.h%:: E-"Tl'l.-!tl. -:::.I-} ah:::aﬂjfr 13g, ofe :I_n?ﬂ m:gr_fﬂn Ikl gl TR I W
| revalving sround {L DRooimes oro, then ta| % % 7 oy
3 ; AT, nr e
(A} s TOVE towards the Earth o I T
(@) eontinud Lo MOVE in this orbit wit, s iay 9 g Ul 2 : A
velocity axng i} maﬂ_ﬁn il o T TS s
i e ey b g | 0 B el
II By become stationary in ita arhit - 3 = i .
II| { (D ﬁﬂﬁ_ﬁTﬂ?ﬁT‘[’ﬂﬁﬁmﬁ
i 1 f the following elem 139, f=itn fam L TR
| 1 iﬁﬁhri oil into ghee {3 fr:lid m:;?m “onverts | (ra =) # it
’I (A} Paotassium (A)
|| (g} Helium (B ﬁ?ﬂﬂﬂ
ST III' (01 Oxygen i ﬁﬁ .
T (D}« Hydrogen (I )
| e 2 ar&: %
J 40 ' Detergents are better cleansing agents thap 140, H A g
i spaps and can be used for washing even wiih il =1 ARl T
hard water because grEd B I Wi T u
(A) they are sodium salts of long chain alky] ! B
- h}'drﬂ'gﬂn SU!PthE U ‘&:, =y =
' i T T
(B) they fﬂrmﬂ_{ m_s:::L;lhlid zﬂmmum A SRS
hosphate salt wi ard water
(C) ;E}r form  soluble  sodium nd ) o &N ﬁ:ﬂj ammﬁ; 3 w
magnesium salt with hard water ﬂﬂ:g: S
; A Al H@:{ﬂlﬂ Hc—'ﬁﬂﬂ.
D) they do not form insoluble cal 4 (D)
: magnesium salt with hard wa g At ﬁ:ﬂﬁm‘l‘{ A TE CEIG) 'G
141 ﬁmﬁ@ﬂaﬁmﬁm,@%rﬁﬁ
141, While crossing a river in_a it is mot| " qﬁ'ﬁﬁﬂﬂ%ﬁ%
' tand becaus HeEATR :
Tjwﬂfhh'iﬂm‘sha:incr decrease sudden Ay, e 8 2 d W i
( 18 Mg
' speed of the tem (boat and 1 g1 1 921 Rl |
passengers) (@) =fe o M SR 9 (T S k)
(B) the person might get more frightened £ fegr F1 H e Eull
and will cause instailﬂlt.‘-’ of the system C) 1 (I v i) ¥ T ET
B
(boat and passenger : b e
(C) = this will keep the centre of gravity of t.ha aq'@pﬁm‘@m ERC feaan
system (boat and passengers) low which gﬁ;ﬁ’aﬂ 2
ensures stability of the boat D) T W (A 3 i) e £
(D) this will keep the centre of gravity of the = Tu @ TR @ £ B
system (boat and passengers) high which ‘@ﬁ'ﬁiﬂ M
ensures stability of the boat



(4
e which hos the
l? bl
quickly and  aequinng
hin few days and

42, The component of
property  of  spiding :
considerable sirength Wit

g
conatitutes GO9% of the cemenl

LAl Tricaleium Silicate
(Y Tricsleipm Alaminete
&3] Tricalcium Phosphabe
(D Ercaleium Silicace

143. What would be the position of the IMAge, lfrﬂ.l'l
object iz placed between focus and pole of a
COMCAYE Tirror 7
{A} Behind the mirror

{B} Between focus
CUrvalpre

{C} At the centre of curvatiure

and the

(D) Between the centre of curvature and
I'n.ﬁ_lll't.jr
144. _i& & contagious viral disease that
causes painful swelling of the salivary glands.
(A} Influenza
(B Mumps
i) Diphtheria
(D) Cholera

145. Lymph nodes, the spleen, bone

Iymphocytes form  which
functionary systems of the

(A} Nervous system

(B) Respiratory sys
(C)  Immune system
(D) Endocrine system

146. Which one of the following is 2 land-locked
country ?
{A)  Vietnam
(B} Cambodia
(C) Laos

centre of

(D} Thailand

1486,

Frerifea & @ Ha = ain wdm 2 fm
Wi

(A) foaeam

(B) wwtte

(C) » F1ATH

(D) wuréde

Al



b Lh C
Euﬁgmq._-r the following ecosystems -

7 47-
& P, raie ~ | 147, i TR
g Tropical Evergreen 1, 2m _ AT
R R
_q:r T‘l!!’ldl"ﬂ 3. E
T : :
The correct sequence of the ahove e ; w0 i 0 Tt
in decreasing order of their Ajbud'l;::ﬁf:;fﬂua Pr=—=r | i F ﬂ'ﬁaﬁis‘m grm 7
is . e
(A} 4.1,8.2 Hﬁiﬂ“ﬁﬂg
@\ L4.23 t‘;; ii 2-3
i) 14 3.2 (Cim 1|-|1.3-E
oy 4,1,2.3 o 41232
- r L .. ’
148 willy Willy is a laﬁ.ﬁﬁﬁﬁ?ﬁi * ﬁgﬁ TR arh
(4} kind of common fish found near Maldiye, A AT .
(B} type of tree grown in lemperate regions A TEh MR wh1 98]
(c1 wind that blows in a desert 5y @ EuLsls # =wdl ®

) tropical evclone of North-West Australis

149. Which one of the following pairs iz not
correctly matched 7

49,

(A) Gulf of Aden — Wam
,(B) Gulfof Carpentaria — @ )5 Ay A H c 16 — W
(C) Gulf of Tartary . () . wwt S — wiefem
(D) Gulf of Sirte el () it H T — A
) foe 6 T —  @ifam

150, Which one of the following pairs is not

correctly matched 7
e 150, Friifea el # & FR-E WA g 787 R 2
Name of the Otl-field Country

FiA-%ice F1 AH 29
(A) Burgan Field Kuwait
‘ (A) T EwE FaA
(B) Sarir Field Libya
(B) » BN HIeT e
(C) Dukhan Field (man
! | (C) & $res A
(D) Tengiz Field Kazakhstan




LER

{35 e 18 given in Jire
14 :
c . O T e the Even s
cqod Pt O the| 184, In this quest® L which best
1 5 i N -

131. In the ‘I]IIEI:Ft-‘l'ﬂIJ.- the * it Ehﬂl.'lﬂﬂ che SO gy-| nl":l.l."-'“."pﬂ.t'lll-i"'B m]E' ﬂ,;ﬂ-‘i-\-'u'ln'tti"‘l& E"ﬁ"l
aniiLoies h-ﬂﬂ an .51'1'411' J:I:l 118 ti.'-gﬂ ‘-'l-' 'iml-'fﬂ\'lg n[:mﬂl iwveEs c nwl\gE in p |I H"P
optine Frans the. gived alte CHpresens the 9 1 it 1
% e} . Ve - work i SO ele 0ur |I __;

@ aentence. T I failed 1o We had to stop all ot .
» 2 :
He is vory angry EE_E-' pEstEnment. e ,.mpp'ﬂ-'d by us Lo : T

return his book. (A} ALl other W™ - o emt. I

complete our a35E" copped by us to \

(A) at me d w e '
(B)* All ather work o ent III

o nent.
Jete our pesIEn ak

cotop was stopped BY a

(B1, with me

(C) Al other work

e
complete pUr assIEM . stopped by 18 to

ther work has 0 b

() by me
DN All
ek {:I uum::lemnu_r EEEiEﬂm'Eﬂt'- i
ined part of the UL
152, In the question, the M‘dﬂq'm the correct ﬁ . ja gEiven 1n ||I
sentence has an error -t " &0 impro 166. In this question o the @wen
option fro th AU=LL glt.Erﬂﬂn‘rﬂ AHPREVE E-I:T.i"-'ﬁr]]a.'ﬂ-ﬂln"e VOECES Py Wh‘.ﬂh bgﬂ |
Him e s alternatives choose > e in pag.ui‘ﬂﬁfﬂttiﬂﬁ \
ThH PEnEEDGS ot f_li?_'il_i—lffs rained EXPreases E‘Evﬂ {
& gtrescts are &0 r voice. . Jie. )
Jast night. Gandhii e Quit India Movemen '||
18
(A} indeed have 1
(A Quit India Movement W& s \
(B} must have d by Gandhiji 10 1942, |
(C) could have The Quit India Movement was started by ',1
i ijiin 1942,
(D}s would have CGandhiji in ‘ . \
: (C) The Quit India Movement started DY 7
153. In this question a sentence is EER '"3" Gandhiji in 1942. \
: d : Ve
activelpassive  voice. From b8 esit (D) The Quit India Movement had been |
i started by Gandhiji in 1942, \
1

alternatives chopse. the
expresses the same sentence

voice,
Rashmi was moved {
miserable dog.
(A) The sight of the miserable dog has m
Rashmi to tears.
(B)* The sight of the miserable dog had moved
Rashmi to tears.
(C) The sight of the miserable dog moved
Rashm to tears.
(D) The nght of the miserahle dq MovVes

Rashmi to tears.

the sight of the

oved

156.

In this question a sentence 18 g'wan_ n
active/passive  voice. From the given |

alternatives choose the one which best |
expresses the same sentence in passive/active

voice.
Thick c¢louds have overcast the sky.
(A) The sky was overcast by thick clouds.
(B)*The sky has been overcast by thick
clouds.
(C) The sky overcast by thick clouds.

(D) The sky is overcast by thick clouds.

1
g

’1
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o Eoip

(Cr She told me that there were .
gm'ng .

going on.

156, In this gquestion, a sentence jg giv

direct/indirect speech. From they given
alternatives choose the one g he‘at

expresses the same sentence in

speech.

She said to him, “What a

ay I”

(A) She exclaimed that it was hot day.

(B) She exclaimed that it was a very hot day.
(C) She told him that it was a hot day.

(D)* She exclaimed sorrowfully that it was a

Eh].n-g.jﬁﬂ

@) She told that there had been ceremon;
Mieg

T .
[ iﬂ Ehj'q' “:u_:‘:ﬂ-tlﬁn a EEntEnm . ) :1? i
[ . L) : y
,LI’rE“f'"'““"r"*E' choose  the one Bive,
resses the same sentenea S Bk ich hﬂut
Tigge.
speectt lm:l""'a'-'-'l.
ope are CETEMONIES goin 1y
= £ 00" shy Hajg
nee: ta
(Al She told that there have been ¢
- &
going oo, rﬁmum“

hot day.

L

pepce s piven
In this question p oo & :

_ 5 wpch, From the given
d:r.._-..:mn:d1 rect -h«?'::’ff the  one  which  best
alternatiesd Lu_mu, genenes i indirvectd/direct

Expresded the =
Epeach.

; Meet, “Congratulations !
. et gl BN ;
The PricePe  in life.

Wish you sUCCEss

ngg‘[utuiated Deet and

" ' 31
The PrincF access in life.

(A
spid wigh you 2
pal conpgratulated Meet and

The Prind! LI.':-"-"EE'Em life.

(B, ,
wi,ﬂhﬂ:f' ]:ul'l:l =

i5 ongratulations: and
B,

ipal id congratulations to
hﬂ"hjm success in life.

this guestion A sentence 18 given in
tindirect ~speech. From the given
alternatives choose the one which hest
expresses the same sentence in indirect/direct

speech,

wYou can't bathe in this sea,” she said to me,
“Itg very rough.”

(A) She told me that you can't bathe in this
sea because it's rough.

{B) She said that I couldn’t bathe in that sea
* as it was very rough.

(C) She said that I couldn’t bathe in that sea
if it was very rough.

(D) She said that you can't bathe in this sea
because it's rough.
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o

isLs of gix
pmgne EOMEIE
sentelCEE Afe
{our senLences
which sre

181. In this question, the pas
sentences, The first and sixth
Even as 81 and 52, the middle
are removed and jumhbled UP
labelled ag 1, 2, 3 and 4. Choosé the praper

arder for the four sentenoss from the. :E“'m"
alternntives:

Bl : Gauri said on the phene that she would
rieport for duty next day.

82 : Eventually we reported to the police.

. We waited for a few days, and then we
decided to go to her place.

- But she did not.
3. We found it locked,

4. E'i-'_en after that we waited for her for
quite s few days.

(A) 2.8.4.1
(B) 3,4 21
Cr=2. 4. 1.3
D) 4,231
162. In this gquestion, the passage consists of six

sentences. The first and sixth sentences are
given as 81 and 52, the middle four sentenc

82 : Nearly hundred lives
fateful day.

1. But people did n

2. That was to
was something wrong.
4. It was a dangerous thing to do.

4. For, within minutes the ship began to
sink.

14) 4,312
(B) 2,1,3 4
(C) 1,234

ryone that there

(D) 3,4,2 1

ARy - 45

‘:.:'_11_l|.\j_n|:: of BLg

T Lo s
he passt p pentences @re
. ] AT LN L gix! AL IES oy
e iut&;ﬁq:buzt“;rhf r'l:ﬁl;:d jddhe lI’ﬂlul:I:,.-,-ﬂl-.“:*;l:l'l- are
Ei_-'ﬂ_-:';_ ad 51 u-.l-'"'-i 5‘-;! J,I..I.r“bh;-d ﬂ'l.ﬂr Pmp&[ -I'I'I'"d.lgr
are remoy "md 4. ﬂh“””'} m the gven
labelled 1, 2, 3 m:mmentﬂ’ 2
for - tha < fodir {es the nature
_u.lt.ErI.'I:EU"'rB'r" G'—-ﬂ j_'l'."i-":lsn
avas peeds g A h
d the e hnrmﬂ'm:'g =M, ks
i)
b constitute the
gts
e BEQ

]I.'-i'ﬂ“. 1\ 5
human
sthical ©o0F and =&

on
: i be a spiritusl
Mare than ‘l‘
) fulfilment unless it
n giveg! 2 hia ethical
ia ‘ LE R
- . consists of six
this question, the passage

t and sixth phrases are given
s:ﬁ@?sgra the middle four phrases arc
removed and jumbled up, which are labelled
A, B. C and D. Choose the proper order for the
four phrases from the given alternatives.

81 : A ceiling on urban property

52 - gince their value would exceed the ceiling
fixed by the Government.

1.  no mill-owner could own factories or milla
or plants.

2.  and mass circulation papers
3. would mean that

4. No press magnate could own printing
Presses

(A) 1,8,2, 4
(B)*3,1,4,2
C) 2,8,1,4
(D) 2,1,3,4



s I*“,3_5-,,|-;i.|::n, there IS & senbene. af

A
e
3 to produce. Hhe oo Tigree
thest pans . TTECL sang,

the m,[T’E'I'-'I- “Eq’rl ERcCe. nm_
Choast

Whie),

Thed
it struck M€

gf.;u:urse
mit-ﬂbf'! it wWas

oW aminen l‘.l__'r"'

b

s o3
32

{E] I. "‘:!

ﬁ:;l 1,3. 'q'I-E

ID? -’-I .i., 31 2

[n this question, there is a sentence of w

B6.
: somé parts have been jumbled up. Re

hese parts 0 produce the correct sen

(Choosé the correct sequence.
2
The grocer
 did not listen to th of the
pustomer
2 who was in the i) “'Elihlﬂilﬂu

3 whom he had cheated
4 with great audacity
(4) 4,1,3,2
(B*2,13 4

i 1248

D) 3,142

fi
I L
:l =

i It this question ghore 5 3 pentencs of which
et 1
e the GorTect Bentence,

“mﬁ PB“-E- hn'-'-ll* LLﬂ:'I-bl.L'd M. I't-l}-arrnn“.v

thess ports 0 PF°
Choose the carrect peguence

The unpntt

1.  iato beseen

2. in the divers® chan@es in conjumer habits

and industrial

d.  of tﬂhﬂﬂlﬂ'ﬁi“ﬂ
deva]upmmt

towns end even in village
conglomerates Q
B 1, 2¢¢ §

{ 1

4. in cities,

tA) 2,8,1.4

this question. there s & sentence of which

some parts have been jumbled up. Re-arrange
these parts to produce the correct sentence,

Choose the correct sequence.
1 was

1. and stay for a few days in Delhi

2 when my father told me
3. very excited

4 that | could go with him
(A) 1,3,2,4

(B)« 3,2,4,1

(C) 2,4,1,3

(D) 4,1,8,2
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c
1 aRswer §)
pofuadly GAE 1
flead the Fodioeing l,-.-u._r.-_-mgf ik

vt
questions no, 169 and I70 plond fE :
R y early youth whether

o i1 D 2
i1 b b 4t il o
vnly with bogks, 0L answeEr Wit by
have been in favour all
this has become less and lggE. 1
had 50 much better experientes “':' th meén than
with hooks, on the contrasy detightful bonks
even now gome my WY MO often than
purely delightful men: Bul the many bad
¢Xperiences with men have nourished the
Mmeadow of my life as the nohlest book. could
oot de,

. In later vears
Mot that | haye

169. Which one of the following stabeiiEnts h:EIL
reflects the main arguments of the PASSAEE -
give  any

{A) Neither men nor books

warthwhile experience
(B) Books are always better than men

(C} There are more purely deligh men

than purely delightful books

(D)=t iz the experience with
beings that nourishes
necessarily books

170. In his early you

or

(A) liked to have dealings more with men
than with books

(B} liked to have more dealings with books
than with men

(C)» preferred to have dealings only with
books

(D) liked to have more dealings with men
than with books

AR - s

; a E'l:-ﬂ_t.E'l'l.l}E 'i.E .g'i."-'qu
ut\ﬂ-ﬂ'l:'ﬂ' S the efTor in t‘h“ _FLH'_.:
171, In the followinl 970 5 Spa e
which has an @ : 5.
g = ura S
senben. prisis i Europe, the

ing in th
Clombining the I-_I::!;:.ae for & pause n bhe rate
data does mike

Tk,

{A} for a pause ETL

(B} Combining the

e rate BIEES

() crisis

a8
iT1}+ the data does miake

: stenCE 13 given
172.. In the following ﬂl“E_"t‘."n’ . T: the error 1o the
- whi;:h has an erTer 3

Spo
perience ¢ tentl the wedding of her
ed in dark colour.

When she artive
Iriend, she had bed

in

{A)
e

B} : |
,E:} % -nd the wedding of her friend,

(W she had been dressed

In the following question, 8 senthtenﬁ ;:f iw:.hz
which haz an error in it. Spot the €

gentence.
Bani, who studies medi-::i:.:te at present, hopes
to go abroad after praduation.

(A) after graduation.
(B}« Bani, who studies medicine

(O} at present,
(D) hopes to go abroad

174. 1In the following guestion, a sentence is _given
which has an error in it. Spot the error in the
sentence.

An overdose of any medicine is enough fatal to
a plant as to a man,

(A)? to a plant as to a man.
(B) An overdose of any
(C) medicine i8

(D} enough fatal



Ig
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175. Complete the following geptence, by chooaing
i i paonk Apprapriate. alternative from the
Le given words
The of Paulo Coelho works, which

f copies, i@

hawve m1m1}' thopsands  ©
|I reflected in his _ roadership.
{A) integrity, scattered
(B} control, concerned
I {1+ popularity, wide

(D varlety, Narrow

176. Complete the following sentence by chousing
the most appropriate alternative from the
given word :

Architects define a physical structure as a set
-of materials arranged in such a way that these

{41

L

gentence, by ehooging

B p;.i]a-"-."":’f glternative from the
178, Coamplete rLil
the wmosk :
; zilly and
given ones - he has & = 2 =

Dieapite hi#
Elen::; ufhnlﬂﬂur

(A youtbfo!
(B) trivial
(Cy mature
(D »pdnlﬂﬂcgnt
one W

179. Chaose % _ich be
{’ftl:le given word.

hich i# most similar in
st expresses the righy

0
material = d ard pull of : :
Vit it e e OnE which is most similar in
LRl : B E'?:Lg o which best expresses the nght
(Al amplify meﬂiﬂﬂ' of the gi\rg]'l word.
{B) dislodge An Olive hranch
() mimic (Al Mgﬁ'&l‘ of peace
{ID) » resist 3 B A faddy
(C) An idea

ce, by choosing
ternative from the

177. Complete the follo
the most appro
given ones !

Although prices during the fuel
shortage, the suppliers actually saw
in profits.

(A) stabilized, a boom
(B) shot up, an expansion
(C)# increased, a loss
(D) decreased, a windfall

(D) A wicked person

In the following sentence, & word 18 written in
bold: choose the word nearest in meaning to
the hold part :

Being a sociable bird she was conspicuous by
her absence in the club last evening,

1B81.

(A) Prominent
(B) » Apparent

(C) Important

(D) Ignorant
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i
182, In the following wentenes, o wq:rﬂ.'_ﬂ 'l-':“"::”.En in
bald; choage tho arard pearest 10 ning to
the beld part :
He upbraided
frightoned.
1A} Handed
(R} Make iails
) Make up
Dy Seolded

Lha likele (RTRYY who Eal

183, Chowse the word which iz most noarly opposite
in meaning e the given word.
Protract
A1 To cut short
{B) Not to display
Cle Mot to be careful about the future
(I} To indulge in extravagance

184. Choose the word which i& most nearly the
OPposite in meaning to the given word.
Sk
(A} “Elagant
(B) Safe
(€} Nearby
1)) Covered

185. Choose the word which is closest to
opposite in meaning of the bold worl in the
sentenes,

She despises Classical m
(A) Appreciates
(B} R-Esp&eta
{C) »Comprehends
(D) Endures

186. Choose the word which is closest to the
opposite in meaning of the bold word in the
sentence,

I took a durable pair of shoes when 1 went on
the trip,

(A} Delicate
(B} Fragile
(C) *Light

(D) Worn out

187.

188,

1540

1“1 L}

AT 18 il

h anld
el piak ”sz;;uﬂlyyh;:i

Four. wardd :ﬁr:irﬂ:'ntt- Find L :
word 18 ¥ :
wm‘ﬂ-
(AT Hﬂgtﬂ.ul’-ﬂ-nl
() Restorent
(c) Restarenl
(D) Restaurent |

of which only ong
are givel the correctly spely

o
tly spelt. Fiod

r '\.lil'l:li""js'
word.
(A} Tdipaymeress
() Lmpetons

() Ignouble
(D) Ignominious

’ |

@ .t of which only ons
" Find the correctly spel

magogue
1 v Delinguancy

¥ Deliverence

sut of which enly one

1ven,
Fouar words are Bl F‘i_‘u& the curretﬂ‘f E'P'E'h.

word is correctly spelt.
ward.

(A} Tolerent
(B) Ebulient
{C} . Jubilant
(D} Iminent

Choose the correct meaning of the idiom given
in bold in the sentence,

Rana was left high and dry by his friends
when he lost all his money.

(A} -Depressed
(B) Wounded
(C) Isolated
(D) Rejected



I"1'3|
Lag

ik F.r-, -~ 10
himihae 11'!1.' correct maa EIIL[LH ol th .Id'
IS L} T 0 LT m.'._ n i

2 e
in bold 1o the sentence.

done to death by

{Caegar Was
ponsp ra ke,

(A Murdered
(A -Artacked
(1 Eliminated
(D Removed

Choose the alternative which best expresspg

the meaning of the idiom.
Touk to her heels
|| iA)l Rubbed her heels
(B} Bent down
(2} Kicked off her shoes

(D). Ran off

195

19#4. Choose the alternative which best expresses
the meaning of the idiom.
A bolt from the blue

(A} A flash of lighting

¢ Cha gl W :
QR e F-.:.!'I-'r'-r-"t

198, hE Wit 5
Choose E e s0DSEL

c

\ e given ohiermnative

™ B,
ord km,_-,l,._-d for the v en phrase
which cadl . LR

Chanliie of e 24

iA) Utterant®
(R1 Narratid®

(| Recitatd!

i 1:..—_3::1‘-"'“”“
o e BIVRD alternatives,

frov :
puted for e gven phrase,
wkuq:'l-;lcs-llbju L -pu'r'l"-‘:"“ ceTVIOE B8 & Sarnpie,
0
(&) - Spei™e
B E-I"B'L""Jﬁ s
{0y Gpectdt™

Dy Specter

¢

erithed part of the
error B ! Choose the coreee

199,
e aliernatives to improve

(B) A piece of bad luck
() , A complete surprise
i) Struck by thunder

195. Choose the word from the given alterna

which can be suhstituted for

gentence.
One who hates marria

(A) . Misogamist
(B) Polygamist »

(C) Misogymist
(D) Misanthrope

© ‘iuen

the underlined part of the
in it, Choose the correct

EHﬁﬂﬂp

has an error
the given alternatives to improve

200, In the 9y
genlence
option from

the sentente.
some means W balance my

{ must find oul

196. Choose the word from the given alternatives, budget.
which can best complete the sentence.
A person, who pretends to be what he is not is (A) balances
called an : _
(A) Impresario (B) toachieve
(B) s Imposter (O o et
(C) Imbiber

(D) toget

(D) Imatator
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